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B sz K % ouT IN GR HDCP NET et g iz K £ ouT IN GR HDCP NET ]
2% RE =X 53 46 99 29.0 70.0 31 A¥ BRI 52 46 98 18.0 80.0

2 ME FE—E 47 53 | 100 29.0 7.0 32 HFEX Fia 50 52 | 102 22.0 80.0
3 AR EE 53 54 107 35.0 72.0 33 NG FREE 55 51 | 106 26.0 80.0
4 #0O #BF 46 50 96 24.0 12.0 34 BE 8= 53 55 | 108 21.0 81.0
5 EH B3 51 51 | 102 29.0 13.0 35 E 51 55 | 106 25.0 81.0
6 =3 2 ) 47 54 101 21.0 74.0 36 a8 Fish 54 60 114 33.0 81.0
1 BL BE 48 50 98 24.0 74.0 37 ML R 51 62 | 113 32.0 81.0
8 BE RH# 46 41 87 13.0 14.0 38 R ExF 61 57 | 118 37.0 81.0
9 B &= 43 41 84 10.0 74.0 BG A-T 39 By XMF 51 53 | 104 23.0 81.0
10 wmF B’ 48 51 99 24.0 75.0 40 = =R 62 61 | 123 41.0 82.0
11 Hith EX 44 49 93 18.0 75.0 4 BT Ez 58 52 110 28.0 82.0
12 HE BE 49 52 101 26.0 75.0 42 L ¥ 56 5 111 28.0 83.0
13 A 47 45 92 17.0 75.0 BG A-1 43 EA = 47 52 99 15.0 84.0
14 ZH RBRX 49 50 99 23.0 76.0 44 RR EBAXE 61 58 119 34.0 85.0
15 Hft E= 53 52 105 29.0 76.0 45 a5H H 50 52 102 17.0 85.0
16 2R HKE 52 51 | 103 26.0 71.0 46 HE & 65 51 116 31.0 85.0
17 BH B= 53 56 | 109 32.0 71.0 47 wEE RF 48 49 97 12.0 85.0
18 HE X5 52 55 107 30.0 71.0 48 'H OB 53 61 | 114 28.0 86.0
19 ME BE 46 46 92 15.0 71.0 49 HFEH RA 53 55 108 18.0 90.0
20 i =88 54 52 | 106 28.0 18.0 50 XH BH 55 60 115 24.0 91.0
21 Ml B/ 55 52 107 29.0 78.0
22 =R BY® 44 48 92 14.0 78.0
23 Ik FIE 46 50 96 18.0 78.0
24 REIF i 48 53 101 23.0 78.0
25 WF xR 45 46 91 13.0 78.0
26 =H HE 48 57 | 105 21.0 78.0
27 BH EBx 51 47 98 19.0 79.0
28 it K% 48 55 | 103 24.0 79.0
29 W¥E & 52 50 | 102 23.0 79.0
30 & FA 49 50 99 20.0 79.0
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T ® X 51 47 98 21.0 71.0 31 |EE RA 50 50 | 100 22.0 78.0
2 FWE RX 49 43 92 20.0 72.0 32 ik %HA 43 50 93 15.0 78.0
3 ARHE 50 46 96 24.0 12.0 33 #H# wmo 56 48 | 104 26.0 78.0
4 |&mAR F-— 40 46 86 13.0 13.0 RZIE N 5 54 50 | 104 26.0 78.0
5 ®Il Rkk 48 41 89 16.0 73.0 3B BKXK EB 44 46 90 11.0 79.0
6 K E= 40 33 13 0.0 713.0 BG 36 LR MR 52 48 100 21.0 79.0
1T BmE &= 44 45 89 15.0 74.0 37 it 4TEE 47 42 89 10.0 79.0
8 EY &R 50 50 | 100 26.0 74.0 38 MHE M8 47 51 98 18.0 80.0
9 BH =¥ 48 45 93 19.0 74.0 39  umill FF 46 47 93 13.0 80.0
10 B9 B 50 47 97 22.0 75.0 40 FKIR =R 50 46 96 15.0 81.0
" ®E B 50 55 | 105 30.0 75.0 41 HE BX 48 48 96 15.0 81.0
12 wE F5h 44 46 90 15.0 75.0 42 HFE #= 42 44 86 5.0 81.0
13 MAR KE 41 45 86 11.0 75.0 43 FEEF —B 51 50 101 19.0 82.0
14 4L 42 40 82 1.0 75.0 44 BO R=HR 54 46 100 18.0 82.0
15 |3l #w= 37 43 80 5.0 75.0 46 fEH FR— 45 52 97 15.0 82.0
16 REKRK Rt 42 43 85 10.0 75.0 46 XxE EH 48 45 93 11.0 82.0
17 #E BN 38 39 11 2.0 75.0 47 MER = 51 47 98 16.0 82.0
18 [MH Eik 45 47 92 16.0 76.0 48 R ER 46 45 91 9.0 82.0
19 FEE HE 44 47 91 15.0 76.0 49 EBEH Sk 43 51 94 11.0 83.0
20 XEN EE— 52 48 100 24.0 76.0 50 A #A 50 50 | 100 17.0 83.0
21 Kl =& 40 47 87 11.0 76.0 51 &k W 40 58 98 13.0 85.0
22 @K 3 41 50 91 15.0 76.0 52 =i BF 54 49 103 18.0 85.0
23 ~E BE—® 45 43 88 12.0 76.0 53 BiER BF 50 52 | 102 16.0 86.0
24 Fori o B 46 49 95 19.0 76.0 54 HE 8 59 53 | 112 25.0 87.0
25 HHE ERE 51 51 | 102 25.0 71.0 5 RE ZKE 54 49 = 103 16.0 87.0
26 8| FE— 51 49 100 23.0 71.0 56 KR X# 59 58 117 29.0 88.0
21 EX #4T 47 47 94 17.0 71.0 57 H¥F = 56 59 | 115 21.0 88.0
28 RIF &X 51 50 101 24.0 71.0 58 MR —& 48 55 | 103 14.0 89.0
29 =8 H 51 45 96 19.0 71.0 59 BXK EA 54 50 | 104 13.0 91.0
30 HE &S 45 46 91 13.0 18.0 60 X%F =M 54 65 119 21.0 92.0
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